mathskils * ki

Motching models with
addition sentences: Up to 10

5.3 -8 4ov 2 -6 44 4 -8 6 + 4 =10
S
5.,2-7M 4L+ 5 =9 5 . 2 =7 6+ 2 -8
5 45 =10 ETE 6 .2 -8 1+ 2 =3
3+ 2 =5 4 + 2 =6 5 + 3 =8 2 + 2 =4
3 +2 =5 4 + 2 =6 1+ 2 =3 2 + 2 =4
4o 3 -7 4ol =5 6.2 -8 4o+ 2 -6
3.7 -10 2.2 -4 247 =9 4L+ 2 -6
5 4 2 =7 4o+ 6 =10 2 .6 -8 4L o+ 4 -8
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Motching models with
addition sentences: Up to 10

5 .3 -8 4o+ 2 -6 -8 6 + 4 - 10
5+2:7\/ 4 45 =9 _ 7 6+2:8\/
5 .5 =10 4.3 -7 _ 8 1+ 2 -3
3+2:5 4+2:6 :SJ 2+2:4
3+2=5\/ £ & 7 =B _ 3 2+2:4\/
4+ 3 =7 4o+ 1 =5 8 4L+ 2 -6
3+7=1o\/ 2 4.2 -4 -9 442 -6
5 . 2 =7 4+ 6 =10 =8\/‘ 4o+ 4 -8
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